__RED SWASTIKA SCHOOL

2004 PRELIMINARY EXAMINATION

MATHEMATICS

Name: : . { )
Class : Primary 6/ {(¥M172)
Date : 24 August 2004

~BOOKLET A

15 Questions

25 Marks
Duration of Paper : 2 hours 135 minutes
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. Do not open this Booklet until you are totd to do so.
. Questions 1 - 15 arc to be done on the OAS provided.
. Read carciully the instructions gtven af the beginniny

of each part of the Rooldetl.

. Do notwasce tune, I a question ¢ difhendt for vou,

go ou to the next oue.

. Check your answers thuroughly aud make sure vou

attempt every question.
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Questions § to 5 carey ¥ mark each. Questions 6 to 15 carry 2 marks oach.
For each question, four opiions are given. One of them s the comedt answer. Make your
‘choles {1, 2, 3 or 4y Shade the correct oval on the Gpticsl Answer Sheet.

{25 marks)
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sned 2 $l-note. How many 50-cent coins can he exchanee them
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3) 12

@) 22 ‘

2 ker of 2-oim oubes that he can eui front it .

4, A carpenter Bas arsctangular Mlock of wood measueing Ziem by 150m by om. What is
the maxXimum nues ?
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5. My Tan bought 3 durians weighing 1 -kg, 1.5kg and 2= icg. Wha! is the average weight
3 5

of the durians?

(1) 1.5kg
2) l.6kg
(3) 1.7kg
(%) 1L8kg

6. In the diagram below, not dravwn to scale, ACD 16 an cqualatecal iriangle and RCD ks a
_straight line. Find £ y.
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() 28°
() 60°
3) 88°
() 92°

“7. A windmill turns 1500 rounds in an bovr, How many rownds can i twT in § maites?

(1) 25
(2) 50
(3) 125
() 7500
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8. Meiling 15 v years old this year, Her brolber is iwice as old as
brother 2 years ago?

(1) 2y vearsold

(2) (2y-2)yecars old
3) (2y—4)years old
(4) (y—2)years old



9. The distanze brtweert the first kmp post and the 11U ! larnp-post is 20m. M the zamp—uoer\
are spaced out<gually, what 1s the distance between the first and e thivd lamp-past?
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11, In 2 clase 540 pupmis, 200% of them are g1rls. 25% of the boys like apples. If 12 pupilsin

, what percentage of the girds i the ciass do not like apples?

the class hke anni

A 30%

(2 45%% ) . .
" ene .
(2) 50%

@) 75%

12. The feagth of a tope was revorded as 4.5m, when 1‘0!1;}:16(‘1 ofito 1 decimal place. 1fthe
actual e ngth was longe: thar 4.5m, what would be the longest possibic length ¢f the
rope?

(1) 449 m
(2) 4Siw

)
)
) 4.540n
Y 455 m



13. In the figures below, O is the centre of the civele and the circumieience of the clicle is the

same as the perimeter of the square. What (s the arca of the square? { Take © =
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(1} 22 cm™
(2) 49 cm*
(G) 121em?
154 cm?
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The pie chart below shows the proportion of the differenit ethnic growps in & block of HDB
tlat in Bedok Nonth. Study it carefully and use v to answei questions 14 and 15,
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14, How many Malays are there in the bl

(1 25
@) %0
(3) 180
(4) 270

15. What is the total number of people living by the biock of fat

(Iy 270

(2) 540
() &10
(4 1080
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Quastions 16 i 25 carry | mark each. Write your answers in the spases provided. Give your
answers o the units stated. - '
{20 marks*

16, Express 3735z as o frecuon of 3 kg in its simplest form
T Ang M

~

19, A rectanguizr tant measaring 20cm by 15em by 100y was — filled with water, Find

[y eS

the volume ofvwgter i the tank in Hitres. (1 Yites = ¢ (00em”)

18 The figure below is oyt drawn to seale. WAB A CD and BD L DE, {ind the vatue ©
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15.. How many faces does the solid belowhave?

b eae

20.  Ahmad took —<~ h to dive fram home to work. {{ be diove ata speed ox

A
-~

was the distance beiween his horme and the office?

ANs s k‘("ﬂ

21, On abusto Orchard Road, thete weare 10 passengecs. 4 of the passengers were male.
Fiad the ratio of the number of female pussengers o the totat number of passengers.
(Give your answer in its simplest form)

eas: o e
; 22, If > of a mumber s 21, what is the number?
Ans:_




The figure below. not drawn to scale, shows a circle with diameter 10 om and a tdangle
enclosed in the circie. Find the area of the shaded part.
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25 The ratis of the mumibee of blue beads to the number of red beads ina baskeris 51 3,

What peroontage of the beads in the basket are blue brads?

Ang 9

26, 5i oycies at & speed of 30kmvh for the first 30 misuies of the distance and ar 20kavh

Ags: tm/h




27.

The volume of a cube is 343 em>, What is its tatal stuface area?
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23.

| R . 2 A . - -
= of LilU’s stamps is equal to A of Sanry’s 40 stamps. How marry stamps does Ll

have?
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29.

In the figure below, ABC is an equilateral rigngle and AC = CD. Find 2 CD .
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30, Mis Lim bought p m of cloth. Sk used & m of itio make cwrtains, She then cut up th
remaining cloth into two equal pleces. What was the jength of each piece?
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i, Facimine bought o $kitsnd a blouse. The prive of tive skirt was 0% more that the price

of the Hiouse. ’f she paid $52.50 for the twotems, what was the cost of the skin?

Ans i §

37 A contimer measuning 15 cm by 12 em by 21 om contaias 2,755 0

=1 N\

Twater . How

S n
much mare waier mus be added to make it = full? { £ = 1000am™)
an < _
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332, Find the value of = =0, (Round off your answer 'n'l decimal piaces)
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34.  The figure below, is made up of a square and a semi-citele with redias of 28cra Find

2]

the perimeter of the figure. (Teke 7~ = —)
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35, Inthe figure below, WXYZ s a parallelogram and TVX s an 1soszeles tiengle. Find
ZNVXY.
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For Questior:s ’{‘ & ?’-ﬂ ﬁbm" your won\mg clcmw in the smm.e below each question and
Write ¥Your answe spaces provided. \ : _

The number of marks :w:a;}aoie is shown n brackets { ] at the end oTrack qucs:‘.ion or part-
question.

36.  The fipure stown below 1S made vp of 2 quarter circles and O is the centre of the 2
2. '
LZ_\..

guarter circles Find the area of the shaded part. {Take 7 = )
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37, The figure b.;t‘efzw 5 not drawn to scale. ABCD is & square ana CFDE i1s 2 thembus.
I"l.u 2 BRC
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38. Alice, Bemice and Cheryl shared a packet of sweets among themselves in the ratio
1:3: 8. If Bemice's share was 100 sweets move than Alice’s share, how meaty more
sweets did Cheryl get than Bernice?

Ana: . 2]
; 2 £al e ! ;
39, Johun read < of the pages of a book on Monday, 5 of tne remawvuder en Tuesday and -
of what remained on Wednesday. H= read the finzl 90 pages on Thursdav, How manv
pages were there in the book?
2 &
s o . I5

40. A train travelled from Town X te Towa Y which was 400 kmapart 1 6 b Afrer
stopping at Town Y for 30 minutes, it then presesded back to Town X, On the et
joumey, the spsed of the train was S kw/h less. IT the train started from Town X st
8.00 a1, at what time will it reach Town X again?
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4j. Tom, Simon and Paul shared 360 bottle caps armonz themselves. The number

4 } -
hat Sireon had was = of what Tom had. If Tom gave - of his bottle caps to Pavl,
: ) , 3

bovs woutd then have the vame number of bottic caps. How many bottle caps

Ans: 23

————— et = L

42. A yectangidar tank, measwrmg ¥ m by 2 m by 1.2 »19,50% {led with water. Yow many
the water overflows”?

otal cubes of side & om can be pit into the tankcbeford

Anss o 4]




43. At 9.00am, Mr Lim’s car passed a certain point X, travelling at 2n average sneed of
60 kma’h. At 10.30am, My Chua’s car started off frorn point X at an zverage speed of
80 km/h o pursuit of Mr Lim’s car. '

{a) Atwhattime did Mr Chea’s car ovedtake Mr Lim’s car? -

(1) How far was Mr Chua’s car from point % when it overtock Mr Lim's car?
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44, A frat seller bought 3 boxes ol 24 mangoes at $12 per box. He sold = of the mengoes
; : : P
al 3 for §2 and — n{ the remainder at 50¢ each. What was his profit on the mangoes
at 3 Tor §2 and the remainder at 50¢ eact. What was his profit on @
- hl
sold?
ANS: » 4] ;
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45.  The bar chart below shows the marks scored by a studeat w a» examinaion Stuay il
carelully and answer the questions that follow. -
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(&) What was his average score Tor his best 4 subjects?
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b) What percentage of his total score was the English soarg™ | . j
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46.° The figure below, pot drawy to scale, shows two identical semi-tircles of radius 20 cm
and a tnangle. ' '
A

artedt part. (Take or =3.14)
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47. The figure below is not drawr to scale. AB = AC, FD = DF and DG // CA. EB and A
are straight lines.
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(2) Find 22 AED.

(b)  Find S EAC.

Ans; {a) &y
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48. Mr Wong works as u salesraan who is paid a basic satary of $846 per month. In addition,
he recejves a commisston ¢f 2% on monthly sales over 3100 000,

(a) Talculate his inlal eamings in tha month of January when his sales lotalled
5165 00G. ' :

(&) Calovlate ki wiles in the month of February whan his total eaming amounted. to

s ot
52 458

Ans: (a) Ep!




49.

The cost of a shelf and a muror was 3226, Sslena bought 4 shelves, 2 mirors and &
2972
[A AN

chair Tor $916. The cost of a chair and a shelf was ¥
(a) How much did Selana pay for the murrors?

(b) If she paid for a shelf, a mimer and a chair wulkca § 000 aote. how imuch change

would she receive?

Ans.(a)_ .

(bY ’ <

(AR -




50.  The figure beiow, not drawn to scale, is made up of ar 2quilateral,
arcles and G s Uie ceptre of the 3 circles. The avea of each airele is

(a) What 15 the radius ol each circle?

(b) What pereertage of the 3 circles is shaded?
{(Take o = 3.14)
Ans: (2),
(b)
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1) 2 27)

2) 2 28)
SN C2e)
431 30)
5) 3

6) 1 51)
7) 3 . 32)
8) 2 33)
9y 2 34)
10) 2 45)
11) 3 36)
12) 3 37
13) 3 38)
14) 4 59
15) 4 40
16) 1/8 51)
17) 2 litres &)
18) 90 43)
19) &

90) 45 4)
21) 3 = S i5)
22) 49

23) 24 46
243 40 479
25) 62.5
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